K78-2

®O0JIblroBblE U METAJINTIM3UPOBAHHbIE

BbICOKOYACTOTHbIE NOJIMNPONMUINEHOBbLIE KOHOEHCATOPbI

HIGN-FREQUENCY POLYPROPYLENE METALLIZED FILM AND FOILED CAPACITORS

TexHuyeckue ycnoBusi: OXK0. 461.112 TY

MpeaHasHayeHbIl
NOCTOSIHHOrO,
MMNYNbCHbIX pPeXUmax.

ans

KOHCTpYKUMA: OKYKINEHHbIE.

H max

HomuHanbHas eMkocTb

HoMuHanbHoe HanpsikeHne

[onyckaemoe OTKINOHEHME EMKOCTU
TaHreHc yrna notepb npu f = 1kly,
ConpoTuBneHue nsonsyum

ans Crom < 0,33 mk®

Unom = 315 B

Unom = 250, 1000, 1600, 2000 B
MocTosiHHas BpemeHu

ans CHom > 0,33 Mk®

Unom = 250 B
WHTepBan pabounx Temneparyp
TKE
Hapa6oTtka

CpokK coxpaHsiemocTu

Knumatuyeckoe ucnonHeHue

O6o3HaveHue nNpu 3akKase:

pabotbl B
nNynbLCUpPYIOLLEro TOKOB U B

20"
3 max

uensx

L max

0,001 .... 2,2 mk®

250, 315, 1000,
1600, 2000 B

15, £10; £20 %

<0,001

2100 000 Mom
250 000 Mom

215 000 Mom-Mk®

-60...+85°C
(-500...0)-10°® rpag '
15000 4
12 net

YXJ, B (93+3%

OTHOCMT. BRaXHOCTY
npu 40+2°C, 21 cyTkm)

KonpeHcaTop K78-2 - 1000 B - 0,1 MK® - £ 10%

Specification: 0X0.461.112 TY

Designed to operate in DC, and ripple
current circuits and in pulse mode.

Design: dipped.

A

B max
——

Rated capacitance 0,001 .... 2,2 yF

250, 315, 1000,
1600, 2000 V

Rated voltage

Capacitance tolerance 15, £10; £20 %

Dissipation factor at f = 1 kHz <0,001
Insulation resistance

atCr<0,33 yF

Ur=315V

Ur = 250, 1000, 1600, 2000 V

2100 000 MOhm
=50 000 MOhm

Time constant
at Cr> 0,33 pF
Ur=250V

215 000 MOhm-uF

Operating temperature range -60...+85°C
TC (-500 ... 0) ppm/°C
Operating time 15 000 hours
Shelf life 12 years

RH 93+3%,
40£2°C, 21 days

Climatic categories

Ordering example:
Capacitor K78-2-1000V - 0,1 yF - £ 10%

KON

KON
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Pasmepbl, MM / Dimensions, mm

Macca, r

U.ow, B C.omy MK® Mass, g
U,V Cr, uF Lmax Brmax Hmax A d max
0.068 9 19 17.5 10
0.10 21 9 19 175 10
0.15 11 21 17.5 08 15
0.22 11 20 225 15
250 0.33 27 14 24 225 20
0.47 14 24 225 20
0.68 32 14 24 27.5 25
1.0 18 28 27.5 10 30
15 42 16 28 37.5 40
2.2 20 28 375 45
0.010 7 11.5 17.5 3.5
0.012 8 12.5 17.5 5
0.015 20.5 9 14 17.5 5
0.018 10 14.5 17.5 6
0.022 10.5 15 17.5 6
0.027 9.5 14.5 22.5 7
315 0.033 9.5 16 22.5 0.8 7
0.039 26 10 16.5 22.5 7
0.047 11 18 225 8
0.056 12.5 19.5 225 8
0.068 11 20 27.5 11
0.082 31.5 11.5 20.5 27.5 11
0.10 12.5 22 27.5 15
0.0010 5.6 9
0.0012 6.7 10 06 2
0.0015 71 10
0.0018 71 10
0.0022 8 11 3
0.0027 8 11.5
0.0033 20 8 11.5 175
0.0039 8.5 1.5
0.0047 6.7 13 4
0.0056 71 13
0.0068 7.5 14
0.0082 8 15 0.8 5
0.010 8 18
1000 0.012 8.5 18 6
0.015 7 17 6
0.018 7.5 17 7
0.022 30 8 18 275
0.027 9 19 8
0.033 10 20 10
0.039 10.5 20 12
0.047 9 21 12
0.056 10 22 15
0.068 11 24 10 18
0.082 40 12 25 37.5 18
0.10 14 26 25
0.12 15 28 28
0.15 17 30 35
JIKO JIKOA
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U.ow, B C.om B Paamepbl, MM / Dimensions, mm Macca, r
U,V C,, uF Mass, g
Lmax Bmax Hmax A d max
0.0010 6 10 2
0.0012
20 17.5
0.0015 8 11 4
0.0018
0.0022 6
0.0027
6 12
0.0033 !
0.0039
0.0047 25 22.5 0.8
8 16
0.0056 8
0.0068 10 18
1600
0.0082
11 19 10
0.010
0.012
8 18 7
0.015
30 27.5
0.018
10 20 10
0.022
0.027
0.033 12 25 18
0.039 40 37.5 1.0
0.047
15 28 28
0.056
0.0010
8 14 10
0.0015
27 22.5 0.8
0.0022
15
0.0033
2000 11 20
0.0047
20
0.0068
32 27.5 1.0
0.010
16 24 25
0.015
IKOA JIKOT
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3aBMCMMOCTb ,ElOHyCKaeMOVI amMnnnTydbl NepemMeHHOro CMHyconaaribHOro HanpsxXeHna nnm amnintynbl
nepemeHHon CVIHYCOVID,aﬂbHOVI cocTaBnstoLen NynbCUPyKOLLEro HarnpsaxxXeHund Us oT yacToThl f.

Permissible amplitude of AC sinusoidal voltage or amplitude of AC sinusoidal component of ripple voltage
Ur as a function of frequency f.
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OepaHuyeHus: Limits:
UfS UHOM; UfS Ur;
Us< 750 B gns U,,,=1000 B; 1600 B U< 750 V gna Ur=1000 V; 1600 V
Us< 1100 B gna U,,,,=2000 B Us< 1100 V for U,=2000 V
lNpumep onpedeneHus Us Example of calculation of Us.
[aHo: Given:
=10° ', U,on=2000 B, C,,0,=0,015 Mk®d f=10° Hz, U,=2000 V, C,=0,015 uF
Haxodum: Finding:
U=18% o1 U,,,, = 360 B U=18% of U, = 360 V
LHaHo: Given:
=510° T, Uuou=315 B, Cyon=0,33 MK f=5'10°Hz, U=315 V, C,=0,33 uF
Haxodum: Finding:
U=5,7% ot U, = 18 B U=5,7% of U, =18 V
JIKO JIKOA
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3aBMCMMOCTb A0OMYyCKaeMoro pasmMaxa MMMynbCHOro HanpsxxeHms AU, oT 4acToTbl crie4oBaHNS
nMnynbcos F,, ANMTENbHOCTU HAUMEHbBLLIETO N3 BPEMEHHbIX YHaCTKOB T,, COOTBETCTBYIOLLNX (DPOHTY Tg,
Unu cnagy t. UMnynbca, U HOMUHaNbHOW eMKOCTU Cyoy.

Permissible peak-to-peak pulse voltage AU, as a function of pulse repetition frequency F,, minimal
temporal sector t,, corresponding pulse leading edge slope t, or pulse trailing edge slope t, and rated
capacitance C,.

Unom , B
W = ~—
 PSe L N u _
4 N \‘\
N N N =
‘\\ ] &S N ) s\ E N/
2 N N te th
~ SN INUT N NON
“te. N b3 N
- ‘ ‘.\ § \\
AUn 6 ~ < e - N \\‘\ \."‘- \ \\ w=10[c
Uno—y \‘ B e, \‘ \\ ) ~'~. \ §\\\ 6
. \ NL i ] NG \\\\~‘~ o \ \\ =5 10/¢
N N N IS
10 \‘\ \\\ h \\ §§\
8 ‘\\ SN \ .
: \\\ \\\\ ~_ \ =10 ¢
\\\ \\\ \ -7
2 \\\ \\\ \7 {5 10¢
\ tW=10c¢
0" \\ \\\ \
5 15 22 33 47 68 , 15 22 33 47 68 | 1S 22 33 47 68 15 22 5 2 5 . 2 5 s 5 In .
10 10 oo 10 10 MED 10 10 Fu 10 10
OezpaHu4yeHusi: Limits:
AUI/ISUHOM; AUI/ISUHOM;
AU,<1500 B ans U,,,=1600 B AU,<1500 B for U,,»w=1600 B
lNpumep onpedeneHus AU,: Example of calculation of AU,:
[aHo: Given:
F,=10"Tu, 1,=10"c, F,=10* Hz, 7,=107 ¢,
U,on=2000 B, C,,,=0,015 mk® U,=2000 V,C,=0,0015 uF
Haxodum: Finding:
AU,=28% ot U, = 560 B AU,=28% of U,=560 V
[aHo: Given:
F,=10°Tu, 1,=107 ¢,U,ou=315 B,Cy0n=0,33 MK® F,=10° Hz, 1,=107¢,U,=315 V,C,=0,33 uF
Haxodum: Finding:
AU,=13,5% oT U,on =42,5B AU,=13,5% of U=425V

MpenenbHO gonyckaemMble amnnuTyaa UMMynbCHOro Toka |, U ckopocTb n3MeHeHus HanpskeHusa dU/dt.
Maximum permissible amplitude of pulse current |, and rate of the voltage change dU/dt.

Uﬁ‘:"’VB C"g:: ";"l':‘q’ Iony Max, A dU/dt, max, Viys
0,068...0.15 6.8. 15 100
250 0.22..0.47 154329 70
0.68..1.0 34. 50 50
15..22 45..66 30
0,001...0,0039 15.5...60.45 15500
1000 |_0.0047..0,012 517,132 11000
0,015...0,039 75. 192 5000
0,047...0,15 155.1..495 3300
0,001...0,0018 185,333 18500
1600 0,0022...0,01 22,100 10000
0,012...0,022 72,132 6000
0,027...0.15 108...600 4000
0,001...0,0015 25. 375 25000
2000 | 0,0022...0,0033 66...99 30000
0,0047..0,015 75.2...240 16000
IKO IKOT
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